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I ECO-12 1 
BACHELOR'S DEGREE PROGRAMME 

Term-End Examination, 2019 

ELECTIVE COURSE : COMMERCE 

ECO-12 : Elements of Auditing 

Time : 2 Hours] 	 'Maximum Marks : 50 

Weightage : 70% 

Note : Answer any five questions. All questions carry equal 

marks. 

1. 	Define auditing and state its advantages. 	[2+8=10] 

2. 	State the difference between : 	 [5+5=10] 

(a) Audit planning and Audit programme 

(b) Internal audit and Statutory audit 

3. 	What is a Voucher ? State the points to be kept in mind 

while examining a Voucher. 	 [2+8=10] 

4. 	How would you verify and value the following : [5+5=10] 

(a) Book debts 

(b) Investments 
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5. 	State the qualifications and disqualifications of a company 

auditor. What is his status ? 	 [2+4+4=10] 

	

6. 	Define Vouching. How would you vouch the following : 

[2+4+4=10] 

(a) Packages and Empties 

(b) Goods sent on consignment 

	

7. 	Comment on the following statements : 	[5+5=10] 

(a) The financial statements give a true and fair view 

of the company. 

(b) Management audit begins where the work of 

financial audit ends. 

	

8. 	Write short notes on any two of the following :[5+5=10] 

(a) Audit Note Book 

(b) Secret Reserves 

(c) Divisible profits 

(d) Errors of principle 

x 
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[5+5=10] 

(a) •-■ qI.t (Book debts) 

(b) (Investments) 
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